oS "ol A 274t ABC 9
WolE Fotd? (d, sind3® =
0.68, cos43° = 0.73, tan43° = 0.93
)

® 7.3 @ 1241 @ 16.58
@24.82 ® 49.64

B ~

AC =628,
BC=173

5 AABC = 6.8 % 7.3 % = 24.82




oh& 1R} o ik gafshs et

S Atol] A&7} 21 m o], Hjo| A % “’H} g
Se] H7)E viEr 2 Zhe] 27171 -21m -

15° o] e, S| Eol=?

@ tanl5°m <@>21tan15°m ® sinl5°m
@ 21sinl5°m ® cosl5°m

tan 15° = 2—)“1 o]B & x = 21 tan15°m ©|T}.




3.  The 139 AABC O Hol=?

® 7V2cm? @14\/§cm2 ® 21v2cm?
@ 282 cm? ® 56 V2 cm?

1 3
5 X Tx8xsind5® = 28 ‘/7_ = 14V2(cm?)




s

the 179 4P WolE 8 7

@ 24cm? @ 24V2cm?
@24 v3cm? @ 48cm?
® 48V2cm?

AABC = — x AC x BC xsin(180° — 120°)
V3

:—><12><8><7
= 24V3(cm?)

=N | =

[\V]




th2 1o AB = Y O 9 | Eo]1 C
/AOC = 120°, /ADC = 90°, AO =
12cem ¥ o], AAOC 9] Yo|=?

120°
A oer 0 D
O 12V3cm? @ 243cm? 12 cm
@36 V3em? @ 48 V3cm?
® 60v3cm?

B

(d°l)= 5 x A0xTD
CD = 12sin60° = 6 V3
mehA] AAOC = % x 12 X 6 V3 = 36 V3(cm?) |t}




6.

D 48v6 @ 485 @48«5 @ 482

~&B

(AABC) = L oaxs V3 x sin 30°

1
= —X24Xx8V3xX =
5 X 24X \/_><2
=483




ohe T 2L AZFE ABCD 9] ol
2 7sul

@12vi @11V ®10v8 @ 9v3 G 83

X 6 X 8 %X sin60°

><6><8><\/7§:12\/§

S:

N =N =




8.

ofef Iyt 2 AS5H xﬂOﬂH H FG =
5cm , \BHF = 30° & wj, o] Z H%ﬂ— LC
mL9 RS
I
E)_fio_t_
F ~~5em- "G
256 o 2) 12 V6 o @ 125 V6 e
3 3 2
@ 686 cm? ® 1256 cm3

H

!
7 5cm

~&B

1
. AE =52 x G
HulE=5x5x 5‘/_

3

FH=5V2cm , AE =

BF = FH x tan 30 °

_5v6
"3

125v6
- (cm?)




9.

oS 192 /ABH = 60° 91 9%
ojtt . Y& o] Hul& F5HH?
@213v3r @ 244+3r

® 2453 @ 24351

® 246 V5n

~&B

BH 1
°=—— - BH=1 °=18x - =
cos 60 13 8 cos 60 8 X 3 9
AH —
tan 60° = 5 AH = 9tan60° = 9vV3

1
(P& Prfq):gx9><n><9\/§x§=243x/§n




10. o2 132 AABC oA AABH Ed2] Ao]&=?

!'Ii“1o\
BE—L: Sc

I N

D 5-2V3+ V37 @)5+ 23+ V37
® 5+2V3- V3T @ 5+3V2+ V3T

® 6+2V3+ V37

B

AH = 10sin30°=5
BH=7vV3-CH=7V3-10c0s30° =23

AB = /521 (2V3)2 = V37

wr2tA AABH E89] Zol& 5+ 2V3 + V37 ol




11. o3 #Zo] AHLBC

Ql
AABC oA BC = 16cm €
o, AH 2] Zo]=7?
C e
@ 3+v3cm @4‘/§Cm
@ 6‘/§Cm @ 6\/§Cm

8

AH 16
AH =

= tan(90 01% 60 °) + tan(QO 30 o)

t 30° t 600
anlﬁ + tan 0

RN S




12. & a9 o] /B =75 AB = AC = 6cm ¢! AABC 9] Ho|=?

@ 6cm? @ 6v3cm? 3®)9 cm?
@ 9+v3cm? ® 12V3cm?

AABC £ o]eHAZtgolB=E /B = /C=75°
w2bA] ZA = 180° — (75° + 75°) = 30° ©| L,

AABC = % X 6 % 6 x sin 30° = 9(cm?) ©]t},




13.

o2 183 22 uE 2 ABCD
o] Wol7t 123 ¢ wf, utE R 2
QtHOl dolE x 2t olH x2 & F
SHH?

@ 10 @ 15 ® 20 @24 ® 25

x X xxsin(180°—120°) = 12V3
x? x sin60° = 12V3

x2x‘/7§=12\/§

x? = 24 o]t}




14. H=3 22 *}21*03 ABCD 9] gol& Hr&’ste] 4o 2714
(

D)113 @ 114 ® 115 @ 117 ® 119

B

1
(o) = = x 12 x 20 x sin 70°

= §><12><20><0.94
=1128 =113




15.

o2 23 o] Hi
ol ¥ O o WHsIE 423 ABC oA
_]

@ 8cm? @ 8+vV3cm? 3®)16 cm?
@ 16 V2 cm? ® 16 V2 cm?

HFZF /BAC = 75° o] B2 F4HZF /BOC = 150° °]t}.

watAq ABOC = % w8 % 8 x 5in30° = 16 cm? o]},




® 108 @ 144 ® 196

B

@)304

® 340

D oA AB 2] g4
AADH oA

AH = AD cos60° = 6
DH = AD sin60° = 6 V3
ABDH ©J| A

BD = v/BH? + DH?

g &

=

304( cm)

- \/(6—1—8)2—1— (6v3)"

(Ko
1o

I
o

jag|
&
_O|L
=)




17. 297 e 294 A AT C A
2 Aole] Azlg Adst A Y 220m
oltt. A A} B A Aol el A2

=7

o WA, o uVE,
o AW, o uWE,
@2,

CH = 220 x sin 45° = 220 x ‘/Ti = 110 V2(m)
-.CH=AH
L ap. AH :220%(111)

cos30° 3




18. o3 I"HolA AABC 9] Hol&

T sin | cos | tan

22°10.37/0.93/0.40

50° 10.77/0.64 1,20

@ 150cm? @ 160 cm? @ 180 cm?

12(cm)

— AD 12
LAED S T = tan22° 040 = 30(cm) °J*.
w2t AABC = % X (10 + 30) x 12 = 240( cm?) o]t}

AABD ©JA AD = BDtanB = 10tan50° = 10 x 1.20 =




O A DbE L W, a=>bsinA, c =bcosA°|Tt.

@ /A2 AW, a=ctanA, b= —— o]t}

cosA
® A%aE LY, b= c= otk
sin A tan A
@) 90 gol a, 977 BE S W, 42E ] Hol:
%accosBO]‘jr.
® & o] 0] b, 5} 717 AR I o, A7FS] ol

1
§bc sin A O] E]'

o] doja, & 719 BE & W, AP Hol S =

L= Ny |

1
Zacsin B
5 acsin




20. o2 1 e A7
e
©) 25(\/§—l)m
@50(‘/§+1)m
® 150m

3 ABC oA x 9

Oo

“100m’C

@ 50m
@ 100 (V3+1)m

5_130° K45° /
100m’C H

tan45° = —

. CH = xtan45°
BH = xtan60°

100

100
V3
50(

X =
tan 60 ° — tan 45 °

BC=BH-CH = xtan60° — xtan45°
x(tan 60 ° — tan 45 °) = 100




